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Fiber 538, dchi2frac= 1.0
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Fiber 2309, dchi2frac= 1.0
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Fiber 1003, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0 0.2

Fiber 4493, dchi2frac= 1.0
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Fiber 2696, dchi2frac= 1.0
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Fiber 2307, dchi2frac= 1.0
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Fiber 2152, dchi2frac= 1.0
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Fiber 665, dchi2frac= 1.0
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Fiber 2570, dchi2frac= 0.9
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Fiber 1137, dchi2frac= 1.0
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Fiber 2019, dchi2frac= 1.0
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Fiber 2171, dchi2frac= 1.0
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Fiber 679, dchi2frac= 1.0
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Fiber 4188, dchi2frac= 1.0
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Fiber 2721, dchi2frac= 1.0
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Fiber 1480, dchi2frac= 1.0
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Fiber 2624, dchi2frac= 1.0
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Fiber 1014, dchi2frac= 1.0
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Fiber 4269, dchi2frac= 1.0
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Fiber 2102, dchi2frac= 1.0
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Fiber 868, dchi2frac= 1.0
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Fiber 4099, dchi2frac= 1.0
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Fiber 1404, dchi2frac= 1.0
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Fiber 1145, dchi2frac= 1.0
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Fiber 2568, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 1198, dchi2frac= 1.0
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Fiber 1412, dchi2frac= 1.0
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Fiber 2737, dchi2frac= 1.0
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Fiber 2359, dchi2frac= 1.0
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Fiber 2178, dchi2frac= 1.0
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Fiber 4058, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.51.01.52.02.53.03.5

Fiber 4186, dchi2frac= 1.0
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Fiber 2849, dchi2frac= 1.0
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Fiber 916, dchi2frac= 1.0
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Fiber 2536, dchi2frac= 1.0
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Fiber 4190, dchi2frac= 1.0
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Fiber 2007, dchi2frac= 1.0
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